H & 0l & AHS B Ml A

S BADSYE
Ha: OIS JI8r2s

Chel: BMWSHHSE (SH9 H2)
SA-3Y - SRA(SAH) - MRAY - BES Off &4 & A HusZ
BYSHH 6,414,575 6,331,672 82,903
= 24,000 0 24,000
== 73,100 40,500 32,600
s 6,317,475 6,291,172 26,303
eIisd J1gt2st 538,017 456,667 81,350
= 24,000 0 24,000
< 32,600 0 32,600
s 481,417 456,667 24,750
gy usde29 538,017 456,667 81,350
= 24,000 0 24,000
== 32,600 0 32,600
s 481,417 456,667 24,750
BaNs 243t 117,350 64,000 53,350
< 32,600 0 32,600
s 84,750 64,000 20,750
307 212t01™ 69,550 40,000 29,550
= 13,000 0 13,000
[ia 56,550 40,000 16,550
02 QI HAANEE X 65,550 40,000 25,550
o4 Bdss S0l A&
5,550,000 5,550 10,000 4,450
= M2lgo(Hi Rgo, 2H<go, LH+go)
15,000,000 * 1004 15,000 0 15,000
= 4,500 0 4,500
[ias 10,500 0 10,500
o8N U=s UMY
15,000,000 * 100 A 15,000 0 15,000
= 4,500 0 4,500
= 10,500 0 10,500
05 2IR”IAE S 4,000 0 4,000
oUXE SHUFUA 24 A (0latE™
) 4,000,000& 4,000 0 4,000
(= 4,000 0 4,000
405 KHAHF SH] 23,800 0 23,800
== 19,600 0 19,600
[ia 4,200 0 4,200
01 MM ESHSHI 23,800 0 23,800
oEiE3pc & 22 1,190,000 *20H 23,800 0 23,800
(= 19,600 0 19,600
s 4,200 0 4,200
HeI2oH WS A 156,400 128,400 28,000
= 24,000 0 24,000
= 132,400 128,400 4,000
201 Let2aY| 14,000 8,000 6,000
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FA BEUSHEH
33 =y J|Erdst
HAUSHEEE (SH9 H2)
SN - B SRABH) - HPAY - BES 0l &y |l 8 o tmE==T
= 3,000 0 3,000
= 11,000 8,000 3,000
01 At2tltl 14,000 8,000 6,000
olIXg dolz2oius Wil & =378 S
100,000 *60 6,000 0 6,000
= 3,000 0 3,000
= 3,000 0 3,000
301 LEENS 142,400 120,400 22,000
= 21,000 0 21,000
s 121,400 120,400 1,000
14 JIEt2 8= 142,400 120,400 22,000
olIXg HolRdins 2AY
60,0002 * 10 *302] 18,000 0 18,000
= 9,000 0 9,000
= 9,000 0 9,000
oHORNLE LA=E
60,0002 x5EH *23| x40== 24,000 0 24,000
= 12,000 0 12,000
= 12,000 0 12,000
oHOIRMHWE 2AE(ZHIFIL)
& 90,400,000 90,400 110,400 220,000
Hees(EANSHH) 1,553 0 1,553
SEXE ,553 0 1,553
SFSONE 1,553 0 1,553
802 gtet=JIEt 1,553 0 1,553
02 Al - EHIEEXESEHEZ 1,553 0 1,553
20238 M Al BANS SR AIA(
Ol Xt &) 108,510 109 0 109
o023 202 BERWAF KA & &N (
OIRFZ£ &) 1,443,630 1,444 0 1,444
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